CNV_M1_HG19 15 82397225 82401604 CHS

@%5%“3595‘

S ———
IIESSES?

chssgd ——

H‘J

issoss
Hegiest e

gk a—-m-———
[t ——— T
HG00436 HG00593

HEBkY —
NSSSE?% =_'= HGOO707 [remm—
H
NGnnssa e =
S ———— H%mz
b ———— | |
S —— T i iy

e ——
i = P
jisis——11 o
HegaEst --I---—mla

HG00534 _ e

Hegaets

HG00442

G00a0%
o004z 1160061 5

HGO06B4.
000 7

i —
i ﬁ_ﬂI_—_l_—_mm--

11600604

135S ——
e W=ggggg
ot _ HGO00653  ne—
HEREES e e ————
i
Hensey) —— gy ——
EE%Z — Hw—l
et o ==
o i =
e i——— T et e ST

HG00693

HEGRY S N

o
i —

e — U TR P

e e——
i 3--I---__I_”888§§9
He H 6

e ———
S ———

it

R Sl
[P T

T —

s ———
He|

e
FIC00505  —

.
e T

H CNO m CN1

5
- II—II--_é

Wi

R —-l--—émgé i
SRR )

oo0sss
80 A O O O o s 1200505

[E—
pmmEEE————— 1
‘& Heggiss

—y — e

nmnnmNE

Hegess?
100577

- e

Hegese:

HG00537
HG00683

N P s £
TR SR T — W pm——
ooz
[N AN R e v
e R N T =T ———
m—— {835

- 100100 O R
ISR (683810

== [}
110 0 O 1 11530559
HG00443
—II|=£§82%
——— i

HG00543
HG00628

Hegaee
———

HG00463

IIH_II;-—é e
l— °E§sss;s

AL e L el

H reoe
IF—E%%—-= HegRR

I -———q““"%ﬁz

HG00635
—_=

-—Ié%"“%m
11683638

me
HG00427

11 L0 T T T T IR T——Je 5
HG00580 H “
HesRsRs

=

00473
H300565

-100.0 -80.0 -60.0 -40.0 -20.0 0

I I I I I I
0 20.0 40.0 60.0 80.0 100.0




